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Tutor Marked Assignment

T HF: 20
Max. Marks: 20
frogeft: (i)  =dT wet F s 3 afFEe 81 vE W ¥ s 3uw amwq Ry o #)
Note: All questions are compulsory. Marks are allotted in front of each question.
(i) 3¢ IRAHT F TIH G5 9T FOX Al AT AUAT A9, SAqHHAIE, ALAAT Fvx F
T T A Tvw geat ® e
Write your Name, Enrolment Number, Study Centre Name and Subject on the top
of the first page of the answer sheet.

1. et g % 9 fr o g9 #1 S dfm 2

Answer any one out of the following questions.

Freforfra aqgat #1 Teer =7 § forfa

a) A= {x : x TFYMHgAT-3 < x < 7}

b) B = {x : x, 6 ¥ Gl I 44T &} (TT3-1 =)
ERCH

a) ™1 Htan P - cot R HATT &I

3

12cm 13cm

Figure 1
b) FEHF™TEF (sin'® - cos’® +1) cosec’® = 2 (qT3-2 =)
Write the following sets in roster form 2
a) A= {x:xisanintegerand -3 <x<7}
b) B = {x:xisanatural number less than 6} (See Lesson-1)

OR
a)  From the given figure, find tan P — cot R.
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Figure 1
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b)  Prove that (sin’0 — cos'® +1) cosec’d = 2 (See Lesson-2)

2. fefataa geat & 9 5l s vo7 71 S v 2

Answer any one out of the following questions.
a) Tudre, 9, 12, 15, 18,..., 102 F 3d & 2897 98 AT 9T

b) 7 ¥y 3 et & FraeT geard 82 (TT5-6 W)
ERCH
a) TFETGP F TS IR FTART 315 g THHRT TAT IZ 5 AT A1 Q91T 2 &1 THF T&T =0l
AT AT Ay g ATT o)
b) SH GP T ATH AqITT HATA I 1910 TorEeh STqHa T&f 7 AT 8 7 ¥ St g7 9% 2
2 (TT5-6 <)
a)  Find the 28th term from the end of the AP 6,9, 12, 15, 18, ....., 102.
b)  How many 3-digits numbers are divisible by 7? (See Lesson-6)
OR

a) The sum of some terms of a GP is 315. Its first term is 5 and the common ratio is 2.
Find the number of its terms and the last term.

b) Find the common ratio of a GP whose sum of infinite terms is 8 and its second term is
2. (See Lesson-6)

3. fAmferfag gomt o o ey v wo &7 Ieaw fifsm) 2
Answer any one out of the following questions.

a) ARz, = 2 + 81 &z, =1 — i, Al |z,/z,| ST HIST

b) HAWAMNTz = (2 - 1)? + [(7 - 41)/(2 + i)] - 8, @l z & x + iy &
T F TH TR 4<F hIT970 foF x 3f¥ y aTedqiah 9 2 (UT5-8 W)
ST
a) FEHEWAT: x° + x - 28 < 2 I gA &I
b) SEHAT: -1<4x+2<10 I g FLl (IT5-9 W)

a) Ifz;=2+8iand z,=1-1, then find |z,/z,|.
b)  Suppose z= (2 —i)*+ [(7 — 4))/(2 + i)] — 8, express z in the form of x + iy such that x

and y are real numbers. (See Lesson-8)
OR
a)  Solve the inequality x* +x - 28 < 2.
b) —1<4x+2<10 (See Lesson-9)
4. et get § o el o wem &7 Ie e 2

Answer any one out of the following questions.

a) MISSISSIPPI ® oeA<l & fohaw foe o= ® 9T I U &1 AT 3 82
b) 0 &9 TF AT KT ITANT Fh o 5—FHT TATEBIA qa€ 91T ST T 8, TS TAF
AT 67 H 9% Il § ST s 3idh ST UF & SATeF a1 qgl o/ar g2
(ITB-11 =3@)
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4T
2 TRUT T 3 HIGHATSH & g 4 3 AREAT FF U giafa afsq 1 S+t g1 7 B

a)
q T ST awar g2 TR & Faer afafaei § 1 u e 2 wfgerd gt
b) 52 Tl &I UFH T H A 5 T & GATSA] il G&AT AT HIT90, T TAH G § S
UF TFT 2 (I5-11 3W)
a) In how many of the distinct permutations of the letters in MISSISSIPPI do the four
I’s not come together?
b) How many 5-digit telephone numbers can be constructed using the digits 0 to 9, if
each number starts with 67 and no digit appears more than once? (See Lesson-11)
OR
a) A committee of 3 persons is to be constituted from a group of 2 men and 3 women. In
how many ways can this be done? How many of these committees would consist of 1
man and 2 women?
b)  Determine the number of 5 card combinations out of a deck of 52 cards, if there is
exactly one ace in each combination. (See Lesson-11)
5. e geat & & R o 797 7 S At 2
Answer any one out of the following questions.
gt n € N & oo Ao smre % fara w1 g wo et #1 g i
a) 1.2 4+ 2.2° 4+ 3.2°+ ..+ n.2"=(n-1) 2™ + 2
b) n (n+ 1) (n+ 5) 3 FIAUAG (AT3-10 @)
BRI
a) fEgafivm (x/3 + 2/y)°
b) 7' & 25 ¥ fAarira F#7XA 9% quEe A1q o
c) Hear (13) 0% faw I ¥ S ey (qT5-12 =)
Prove the following by using the principle of mathematical induction for all n € N:
a) 12+222+32%2+ .. +n2"=n-1)2""+2
b) n(n+1)(n+5)isamultiple of 3 (See Lesson-10)
OR
a) Expand (x/3 +2/y)*
b)  Find the remainder when 7' is divided by 25
c)  Find the last two digits of the number (13)"° (See Lesson-12)
6. TRforfem woat & & fFet ue w9 1 S S 2

Answer any one out of the following questions.

a)

T ZTAT AT ATAT FHIAT 7 ST T F Tgl aF =l T5 g2 &1 TS T@r arferst 1000
ATHAT % TROTH fa@dr 2
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= ..
§<)°r { 4000 T FH 40009 9000 | 9001 & 14000 | 14000 & =1ferk
ElEL] 20 210 325 445

i =9 FO § UF AT @OeT AT g, T SEehl 97 §91a+T 8 T
(i) 4000 ToFeT T T T FT T T8 T8 TEAAT g2
(i) =g 9000 T 7 srfers =2
(i) 4000 TFHT AT 14000 FFAT F S T a7 F3 F 978 TH TIA AT AFLTHAT A2
b) & TS, @ fa s dow, uw N q= werd g1 ' & #HF A FT ATE_T 0. 62
21 TR FAT GqTaAT 8 R Tfew #=r sfia Strustre
¢) UEREFEAATan g ararg, Rufrir geare o FEmw w
p: '@&is fa Ag! fREar,
0: UFH IR fa fRmarg' s
R: '"&HH Y FH T a1 = fmrs mr g
ST T 79T F TR ST\ ST §07 HeATell & UH e a1 &

(qT5-19 29)
FraT

a) TAwfofaa st & € s THAT % o1 FT 9T F9)
(i) 63, 89, 98, 125, 79, 108, 117, 68
(ii) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8

b) AT ST F UF e T TAT 3T Ta9 FleT 719 FAM: 36.8 T 13.4 §, o 999 F&T
AT ST H2

c) U [ T At & RS Aegs® © 60 I8 T FA Al FgTl A1 Aty 7 Faw 32,
35, 37, 30, 33, 36, 35 ¥ 37 Y9 U g1 3% g oY aF qot frw s arer

TS} & AT fo=e 1q o)
(IT5-17 =)

a) A tyre manufacturing company kept a record of the distance covered before a tyre
needed to be replaced. The table shows the results of 1000 cases.

Distance Less than 4000 to 9001 to More than
(in km) 4000 9000 14000 14000
Frequency 20 210 325 445

If a tyre is bought from this company, what is the probability that :

(1) it has to be substituted before 4000 km is covered?

(i) it will last more than 9000 km?

(i11) it will need to be replaced after it has covered somewhere between 4000 km
and 14000 km?

b) Two players, Sangeet and Rashmi, play a tennis match. The probability of Sangeet
winning the match is 0.62. What is the probability that Rashmi will win the match?
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c) A coin is tossed three times, consider the following events.
P: “‘No head appears’,
Q: ‘Exactly one head appears’ and
R: ‘At Least two heads appear’.
Check whether they form a set of mutually exclusive and exhaustive events.
Chapter 19
OR

a)  Find the range and coefficient of range of the following data.
(1) 63, 89,98, 125,79, 108, 117, 68
(1) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8

b)  If the range and the smallest value of a set of data are 36.8 and 13.4 respectively, then
find the largest value.

c¢) A teacher asked the students to complete 60 pages of a record note book. Eight
students have completed only 32, 35, 37, 30, 33, 36, 35 and 37 pages. Find the
standard deviation of the pages yet to be completed by them. (See Lesson-17)
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